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Purposeful Academic Classes for Excelling Students Program 
(Department of Education, Western Australia) 

 

Mathematics Methods Units 3 & 4 
 
Session 3 
 
Definite integrals 
3.2.10  examine the area problem and use sums of the form ∑ 𝑓ሺ𝑥௜ሻ 𝛿𝑥௜௜  to estimate the area under the curve 𝑦 ൌ 𝑓ሺ𝑥ሻ  

3.2.11  identify the definite integral ׬ 𝑓ሺ𝑥ሻ𝑑𝑥 
௕

௔ as a limit of sums of the form ∑ 𝑓ሺ𝑥௜ሻ 𝛿𝑥௜௜   

3.2.12  interpret the definite integral ׬ 𝑓ሺ𝑥ሻ𝑑𝑥 
௕

௔ as area under the curve 𝑦 ൌ 𝑓ሺ𝑥ሻ if 𝑓ሺ𝑥ሻ ൐ 0  

3.2.13  interpret ׬ 𝑓ሺ𝑥ሻ𝑑𝑥 
௕

௔ as a sum of signed areas  

3.2.14  apply the additivity and linearity of definite integrals 
 
Applications of integration 
3.2.18 calculate total change by integrating instantaneous or marginal rate of change 
3.2.19 calculate the area under a curve  
3.2.20  calculate the area between curves  
3.2.21  determine displacement given velocity in linear motion problems 
3.2.22  determine positions given linear acceleration and initial values of position and velocity. 
 
General discrete random variables 
3.3.1  develop the concepts of a discrete random variable and its associated probability function, and their use in 

modelling data  
3.3.2  use relative frequencies obtained from data to obtain point estimates of probabilities associated with a discrete 

random variable  
3.3.3  identify uniform discrete random variables and use them to model random phenomena with equally likely 

outcomes  
3.3.4  examine simple examples of non‐uniform discrete random variables 
3.3.5  identify the mean or expected value of a discrete random variable as a measurement of centre, and evaluate it in 

simple cases  
3.3.6  identify the variance and standard deviation of a discrete random variable as measures of spread, and evaluate 

them using technology  
3.3.7  examine the effects of linear changes of scale and origin on the mean and the standard deviation 
3.3.8  use discrete random variables and associated probabilities to solve practical problems  

 
Bernoulli distributions 
3.3.9  use a Bernoulli random variable as a model for two‐outcome situations  
3.3.10  identify contexts suitable for modelling by Bernoulli random variables  
3.3.11  determine the mean 𝑝 and variance 𝑝ሺ1 െ 𝑝ሻof the Bernoulli distribution with parameter 𝑝  
3.3.12  use Bernoulli random variables and associated probabilities to model data and solve practical problems 
 
Binomial distributions 
3.3.13  examine the concept of Bernoulli trials and the concept of a binomial random variable as the number of 

‘successes’ in 𝑛 independent Bernoulli trials, with the same probability of success 𝑝 in each trial  
3.3.14  identify contexts suitable for modelling by binomial random variables  
3.3.15  determine and use the probabilities 

𝑃ሺ𝑋 ൌ 𝑥ሻ ൌ ቀ
𝑛
𝑥ቁ 𝑝௫ሺ1 െ 𝑝ሻ௡ି௫ associated with the binomial distribution with parameters 𝑛 and 𝑝; note the 

mean 𝑛𝑝 and variance 𝑛𝑝ሺ1 െ 𝑝ሻ of a binomial distribution 
3.3.16  use binomial distributions and associated probabilities to solve practical problems  
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Area under a Curve 
 

Worked Example 1    Calculator Free 

The region R is defined as the region trapped between 

the curves y x ,   1y x   and the lines 

y = 1 and y = 2.  Calculate the area of region R. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Worked Example 2    Calculator Free 

(a)  Determine  ( cos )
d

x x
dx

. 

 
 
 
(b)  The shaded region in the accompanying diagram is 

trapped between the curves y = x sin x, y = cos x and 

the lines x = 
3


 and x = 

2

3


.  Calculate the area of 

the shaded region. 
 
 
 
 
 
 
 
 
 

   

A = 
1

0

1 1x dx
 
  
 
 
  + 

4

1

(2 3) x dx
 
  
 
 

   

   = 

3

2

1

0

2

3

x
         

 + 

3

2

4

1

26

3

x
          

 

   = 
2

3
 + 6   16 2

3 3

   
  = 2 

 

y x       x = y
2
.  Also,  1y x        x = (y  1)

2
 .  

A = 
2

2 2

1

( 1)y y dy   = 

23 3

1

( 1)

3 3

y y 
 

  
 = 

8 1 1
0

3 3 3

           
 = 2 

 

  ( cos )
d

x x
dx

 = cos x  x sin x  

Area = 

2

3

3

sin cosx x x dx




   

         =   
2

3

3

cosx x


   

         =  
3 6

              
 = 

2


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10

( )f x dx


 .

e region tra

if 
9

( )

k

f x dx

( )f x dx  = 
2

1






           = 8 ×

           = – 4

Area = 
2

10

f




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2
2
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× 2
2
 = 45   k
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Assumed 
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apped betw

= 45 where

2

0

( )f x dx + 



× (–5) + 
1

2
 ×

40 + 24.5 = –

( )f x dx + 
5



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Area Functions 
 

Worked Example 4    Calculator Assumed 

A curve has equation given by y = f (x) =  2

0

sin( )
x

t dt   for 0 ≤ x ≤ 2.   

 

(a)  Use your calculator to complete the table below. 

x  0  0.5  1  1.5  2 

f (x)  0  0.04148  0.3103  0.7782  0.8048 

 

(b)  In the axes provided, sketch the graph of y =  2sin( )x  for 0 ≤ x ≤ 2. 

 

 
 
(c)  Use your graph in (b) to help you determine the x‐coordinate of the turning point on  

the graph of y =  2

0

sin( )
x

t dt   for 0 ≤ x ≤ 2.  Hence, determine the coordinates of 

the turning point on the graph of y =  2

0

sin( )
x

t dt   for 0 ≤ x ≤ 2. 

 
 
 
 
 
 
 
 
   

For TP:  
dy

dx
 =  2sin( )x  = 0 

From graph: 
dy

dx
 = 0 for x = 1.77 

      y = 
1.77

2

0

sin( )t dt   0.89. 

Hence, TP is (1.77, 0.89) 
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(d)  Hence, or otherwise, on the axes provided below, sketch the graph of  

y =  2

0

sin( )
x

t dt   for 0 ≤ x ≤ 2.  Indicate clearly the stationary point on the curve. 
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Net Change 
 

Worked Example 5    Calculator Assumed 

The rate at which water evaporates, in litres per day, from a swimming pool is given by 

1 tdV
e

dt
    where V is the volume in litres and t is the time in days.  Write down a 

definite integral that, when evaluated, would give the volume of water lost from 
evaporation between the 3rd and 6th day.  Use your calculator to evaluate this integral.  
 
 

 

 

 

 

 

Worked Example 6    Calculator Free 

The instantaneous rate with which the amount of liquid,  
V litres, in a holding tank, changes with respect to time 

t minutes, is modelled by 
dV

dt
 = 1  t 

2
 .  The sketch of  

dV

dt
 against t is shown in the accompanying diagram. 

 
(a)  Explain what happens at t = 1 minute. 

 
 
 
 
 
(b)  Find the amount of liquid in the tank after 2 minutes,  

if initially there were 5 litres in the tank. 
 
 
 
 
 
 
 
 

   

Net Change in tank after 2 minutes = 
2

2

0

1 t dt  

                                                      = 

23

0
3

t
t
 
 

  
  

                       = 
8

2
3

   
 =  2

3
 

               Hence, amount left in tank = 5   2
3
 = 

13

3
 litres 

The rate of liquid flow is instantaneously zero. 
       Liquid stops flowing in and begins to flow out. 
Volume of liquid in the tank achieves a local maximum. 

V = 
6

2

1 te dt   

   = 4.0653 litres 
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Rectilinear Motion 
 

       
displacement

differentiate

velocity
differentiate

acceleration
integrate integrate  

  The net change in displacement in the interval a  t  b is 
b

a

v dt . 

  The total distance travelled in the interval a  t  b is the area of the region 
trapped between the curve v = f (t), the lines t = a, t = b and the t‐axis. 
Where use of a CAS/graphic calculator is permitted, 

Total distance travelled = 
b

a

v dt . 

 
 
Worked Example 7    Calculator Free 

A particle P moves along a straight line.  Its velocity, 
dx

dt
 ms1, t seconds after passing a fixed 

point O, is given by 
dx

dt
 = kt + C, where k and C are constants.  The change in displacement in 

the first 4 seconds is 8 m.  P reverses direction at t = 3 seconds.  Find the values of k and C. 
 
 
 
 
 
   

P reverses direction at t = 3      
3t

dx

dt 
 = 0 

                                                             3k + C = 0 

                                                                      C = 3k   
 

Hence, 
dx

dt
 = kt + 3k = k(t  3) 

 
Change in displacement in the first 4 seconds is 8 m 

            
4

0

3k t dt  = 8 

            

42

0

( 3)

2

t
k
 
 
  

 = 8 

                 
1 9

2 2
k
   

 = 8 

                                k = 2 
                                C = 6 
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Worked Example 9    Calculator Assumed 

A particle is moving along a straight line.  Its velocity v (in ms
1
) at x (metres),  

is given by v
2
 = 24 − 8x − 2x

2
 . 

 
(a)  Find all values of x for which the particle is at rest.  
 
 
 
 
 
 
 

(b)  Determine 
dv

dx
. 

 
 
 
 
 
 
 
 

(c)  Use the chain rule to determine 
dv

dt
, the acceleration of the particle in terms of x.   

 
 
 
 
 
 
 
 
 
 
 
 
 
(d)  Find the maximum speed of the particle.  
 
 
 
 
 
   

At maximum speed, 
dv

dt
 = 0      x = 2 . 

      Hence, max. speed =  24 16 8   

                                         =  32  = 4 2  ms
1
.    

      2x
2
 + 8x  24 = 0 

        x
2
 + 4x  12 = 0 

      (x + 6)(x  2) = 0 
                           x = 6, 2 metres 

Chain Rule:  
dv

dt
 = 

dv

dx
   dx

dt
 

        Hence, 
dv

dt
 = 

2

8 4

2 24 8 2

x

x x

   
   

 × 
dx

dt
 

                             = 
2

8 4

2 24 8 2

x

x x

   
   

 ×  224 8 2x x     

                             =  (4 + 2x) ms
2
. 

            v =  224 8 2x x     

       
dv

dx
 = 

2

8 4

2 24 8 2

x

x x

   
   
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Worked Example 10    Calculator Assumed 

Penny is driving her car at 21 ms
1
 when she suddenly sees an object on the road directly 

ahead.  The instant she applies the brakes her car is 40 metres from the object.  The 

application of the brakes creates a constant deceleration of  5ms
2  until she hits the object.  

Let displacement, x(t), represent the distance travelled by the car from the moment the 
brakes are applied.  If the car does not skid and continues travelling in a straight line toward 

the object, use the acceleration equation,  a(t)  =  5,  and calculus methods to calculate the 

speed (in km per hour) at which the car hits the object.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

a = 
2

2

d x

dt
 = 5       

dx

dt
 =  5t + C         

t = 0, 
dx

dt
 = 21        

dx

dt
 = 5t + 21         

                  x = 
25

2

t
  + 21t + K       

t = 0, x = 0       K = 0             x = 
25

2

t
  + 21t        

 

At x = 40, 
25

2

t
  + 21t = 40       t = 2.9194      

Hence, 
dx

dt
 = 6.403 ms

1
.           

Therefore, speed = 23.1 kmh
1
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Worked Example 14    Calculator Assumed 

The table below shows the probability of a person dying between age x and age x + 1 years.  
For example, the probability of a 25 year old dying before he reaches the age of 26 is 0.0008.   
 

Age x years  Probability of dying during the year 

25  0.00080 

26  0.00082 

27  0.00085 

28  0.00088 

29  0.00092 

 
  An insurance company sells life insurance coverage in multiples of $1 000 at an annual 

cost of $25 per thousand dollars of coverage for persons aged between 25 and 29 
inclusive.  
For example, a 25 year old person who buys a life insurance coverage of $100 000 will 
pay an annual premium of 100 × $25 = $2 500.  If the insured person dies within the 
year, his/her estate will receive the amount insured. 

 
  The insurance company has 200 clients aged 25 with coverage of $100 000 each, 400 

clients aged 28 each with coverage $150 000 and 300 clients aged 29 each  
with coverage $200 000. 

  Determine the expected returns for the company, showing clearly how you arrived at 
your answer. 

 
 

 
 
 
 
 

   

For 25 year old ($100 000): 

Return X  –97 500  2 500 

Probability  0.000 8  0.999 2 

 
E(X) = –97 500 × 0.0008 + 2 500 × 0.992 = $2 420 
 
For 28 year old ($150 000): 

Return X  – 146 250  3 750  

Probability  0.000 88  0.999 12 

 
E(X) = – 146 250 × 0.000 88 + 3 750 × 0.999 12 = $3 618 
 
For stock 29 year old ($200 000): 

Return X   195 000  5 000 

Probability  0.000 92  0.999 08 

 

E(X) =  195 000 × 0.000 92 + 5 000 × 0.999 08 = $4 816 
 
Expected return for Company = 200 × 2 420 + 400 × 3 618 + 300 × 4 816 
                                                      = $3 376 000 
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Bernoulli Variables 
 

  A Bernoulli Trial is a statistical experiment where the outcomes may be 
grouped into a “success” category and a “failure” category. 

  A Bernoulli variable assigns the “success” category the numerical value of 1 
and the “failure” category the numerical value of 0. 

  If X is a Bernoulli variable with parameter p, (p is the probability of success) then:  

    the probability distribution function of X is 
          if   = 1    

( )
1   if   = 0

p x
p x

p x


  

 

    the mean for X,        µ = E(X) = p     

       the variance for X, 
2
 = p(1  p) = pq   here q = P(Failure) = 1  p. 

 

The Binomial Distribution 
 

Let X:  Number of successes in n independent Bernoulli Trials 
              where P(success) = p  [constant for each trial] 

  then, X is called a Binomial Random Variable with parameters n and p. 

  The probability distribution for X is given by: 

    P(X = r) =  (1 )r n rn
p p

r
 

 
 

    where r = 0, 1, 2, 3 ...., n 

  The mean for X, E(X) = np and the variance for X, Var(X) = npq.   
 
 
Worked Example 15    Calculator Assumed 

(a)  19% of workers in work‐place bring their own lunch from home to work every work day.  
A worker is randomly chosen from this work‐place.  Define X = 1 if the worker brings 
lunch from home every work day and X = 0 otherwise.  Find the expected value of X and 
its associated standard deviation. 

 
 
 
 
 
(b)  A box contains 15 red balls and 5 green balls.  A ball is drawn from the box, its colour 

noted and it is not returned to the box.  This process is repeated 10 times.  Define X:  
No. of red balls drawn in the 10 draws.  Determine with reasons if X is a binomial 
variable. 

 
 
 
   

P(X = 1) = 0.19    and   P(X = 0) = 0.81 
E(X) = 0.19 

VAR(X) = 0.19  0.81 = 0.1539      STD(X) = 0.3923 

P(red ball in first trial) = 0.75 for each trial. 

P(red ball in second trial) = 
15

19
 or 

14

19
 ≠ 0.75 

Hence, trials are not independent Bernoulli Trials. 
Therefore, X is not a binomial variable. 
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Worked Example 16    Calculator Free 

The diagram below shows the graphs of the probability distributions of several distributions. 
 

     

     
 
Match the graphs with the probability distribution from the list below: 
  X1 ~ Binomial (n = 10, p = 0.3)    X2 ~ Binomial (n = 10, p = 0.5) 
  X3 ~ Binomial (n = 20, p = 0.5)    X4 ~ Binomial (n = 50, p = 0.1) 
  X5 ~ Binomial (n = 10, p = 0.8)    X6 ~ Binomial (n = 20, p = 0.1) 
Give clear reasons for your answer. 
 
 

   
Graph A:  Most likely value = 2       mean is close to 2. 
Hence, Graph A is matched with X6 ~ Binomial (n = 20, p = 0.1). 
 

Graph B & Graph C:  Most likely value = 5      mean is close to 5. 

Hence, possibilities are:  
  X2 ~ Binomial (n = 10, p = 0.5) or X4 ~ Binomial (n = 50, p = 0.1) 
P(X = 0) is higher in Graph B than Graph C. 
Hence, Graph B is matched with X4 ~ Binomial (n = 50, p = 0.1) 
and Graph C is matched with   X2 ~ Binomial (n = 10, p = 0.5). 
 

Graph D:  Most likely value = 8      mean is close to 8. 
Hence, graph D is matched to X5 ~ Binomial (n = 10, p = 0.8). 
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